COMBINED TABLE

(Model: 700)

USER MANUAL

gy
LOGO




) ) The height of the
Big table-top size 1060x490mm | . . 870mm
big table-top

The height of the

Small table-top size | 495x280mm 900mm
small table-top

540%380 The height of the

Drawer inner size 1425-1545mm

x 60mm phoroptor stand

Arm up and down Lighting

120mm 24V 3W
range parameters
Arm sway angle 30° Input power 100W
Table-top rotation 220V, 50Hz or

90° Input voltage

angle 110V, 60Hz

1. Unpack the table-top box, take out the accessories package, here is the list:

inner-hexagonal screws ,

M8 washer*5 Cable of chair*1
M8 *5 & M10*5
Silicone blocking for the ,
M5 truss head screw*5 Cross screwdriver*1
table-top*5
. Main machine power
M8 spring washer*5 8A fuse*2(spare)
cable*1
Allen key*6 (M2.5/3/4/5/6/8)




2. Unpack the carton of main machine, take down the side cover (magnetic

adsorption, pull it out from the bottom first).

3. Remove the two screws fixed on the tray (as shown in the figure below), lift
the main machine and place it on the ground, then adjust the four foot pads

for stable placement.

4. Take out the pedal support, assemble the inner hexagon screws (M8*4pcs)
in the corresponding holes, adjust the height of pedal pad if the ground is not

flat.




5. Take out the pedal, and screw 4pcs of M5 truss head screws.

6. Take out the phoroptor arm, connect the wires between the main machine

and the arm, insert the wire into the pipe and then put the arm in.

7. Adjust the direction of the phoroptor arm to be perpendicular to the main

machine, use an Allen key to lock the screw which are inside the arm.




8. Put the big table-top above the main machine, and insert the two cables

into the bearing hole (as shown in the figure below).

9. After putting on the table-top, screw 4pcs of M10 inner-hexagonal screws

and cover 4pcs of silicone blockings.

o

10. Connect two sets of plugs in the main machine box, 4pin match with 4pin,

9pin match with 9pin.

11. Put the side cover back, first hang the top on the buckle, and then slowly

push the bottom in along the magnetic attraction.




1. Unpack the motorized chair carton, take out the accessories package, the list

is as follows.
M8 inner-hexagonal screws *8 M6 inner-hexagonal screws *6
Silver blocking *6 Black blocking *2

2. Loosen the screws which fix the chair on the wooden box, take out the base.

3. Take out the seat cushion, press down the leather layer, the nut inside will be
exposed (as shown in the picture), align the armrest on this side with the screw

holes, and screw in the M8 inner-hexagonal screws.




4. Take out the chair back, align the nut and screw in the M8 inner-hexagonal
screws, repeat step 3 to complete the installation of the other armrest, and

finally press the blocking into the screw hole with the corresponding colors.

5. Tips, you could power on and rise the base into highest level, it will make the

installation in the next step more easily.

6. Put the well assembled chair body on the chair base, align the holes and
screw in 6pcs of M6 inner-hexagonal screws from the bottom, then all the

installations are finished.






